¥
k2
+ O
o
+
©°
©+
Il

1o bl »le »le o *0 /=1
1 s +0 7=
o B _ " 63%$1
) ™ 8 * He - 63$1
63%1
8 =*6
89.0° 1 n EEFEE====—' .
] A | 91.1 63%1
1f T T T T ! ! ,_l\ ________ :___ _____ m;; T 6321
3 =26 = T a2 \ ho 30 8 /=
I
! ] R I A || A o 8 6
15 i SS90 Y
| 100 e L .
¥ = Kompl. Lénge in einem Stiick - ¥ 8 ( 0
¥ :.q nicht méglich 8 /=
| —
ROl | e REE g 8 /=
Vi1 | & |
el 2'8:
¥ L I Y £ :
| 2 %/21
' 21 .
¥ ¥ ¥ ¥ 9 63%1
®© 6:2+
20 )%
EL JL JL EL £ T 292+)$*
63%1
o 6351
k 2 JL
'$1 . FKHQ 6WDPPHUVGRUI *
6FK|QH .*FKHQ +DQGHOVJPE+ UXQGULVY)XQNWLRQVNeFKH $9
%U*QQHU 6WUD%H .RPPLVVLRQ | %U*QQHUVWU
6WDPPHUVGRUI $ “LH
$/6&+(5 . C?

&$5%7 9




LU *EHUQHKPHQ NHLQH *HZIKU I+U HLQHJRWW LR B O J HiBWEXLH KIHUX @G IGRQYWDR®OWLYH $SEZHLFKXQJHQ VLQG P|JOLFK

'6$F1K'|'QFHKf'.QF}fQINQDEgg%\é%%%ﬁ SHUVSHNWLYKHOQNWLRQVNeFKH $9

%U<QQHU 6WUD % H .RPPLVVLRQ | %U-QQHUVWU
6WDPPHUVGRUI $ 'LHQ

$/6&+(5 :

&$587 9




LU *EHUQHKPHQ NHLQH *HZIKU I+U HLQHJRWW LR B O J HiBWEXLH KIHUX @G IGRQYWDR®OWLYH $SEZHLFKXQJHQ VLQG P|JOLFK

'6$F1K'|'QFHKf'.QF}fQINQDEgg%\é%%%ﬁ SHUVSHNWLYKHOQNWLRQVNeFKH $9

%U<QQHU 6WUD % H .RPPLVVLRQ | %U-QQHUVWU
6WDPPHUVGRUI $ 'LHQ

$/6&+(5 :

&$587 9




LU *EHUQHKPHQ NHLQH *HZIKU I+U HLQHJRWW LR B O J HiBWEXLH KIHUX @G IGRQYWDR®OWLYH $SEZHLFKXQJHQ VLQG P|JOLFK

'6$F1K'|'QFHKf'.QF}fQINQDEgg%\é%%%ﬁ SHUVSHNWLYKHOQNWLRQVNeFKH $9

%U<QQHU 6WUD % H .RPPLVVLRQ | %U-QQHUVWU
6WDPPHUVGRUI $ 'LHQ

$/6&+(5 :

&$587 9




